o TEXHIYHI IHOOPMALLIT
TECHNICAL INFORMATIONS

CraHpapTHa 06po6Ka KiHLUSA FBMHTA 3i CTOPOHMU AABUryHa
Standard end-machining of the motor side of the the screw

Tun
Type

BK10
BK12
BK15
BK17
BK20
BK25
BK30
BK35
BK40

FK05
FK06
FK08
FK10
FK12
FK15
FK17
FK20
FK25
FK30

oB h7

3oBHilHii @ rBuHTa @ Bany B NiAWMNHUKY

Screw outer @
d

1211415
14/15/16
18120
20/25
25/28
32/36
36/40
45
50

Tun
Type

- EK05
FKAO6 EK06
FKA08 EK08
FKA10 EK10
FKA12 EK12
FKA15 EK15

FKA20 EK20

M =
<
\ Q
F E
Shaft support @
A B E
(mm)
10 8 36
12 10 36
15 12 40
17 15 53
20 17 53
25 20 65
30 25 72
35 30 81
40 35 93

AK10
AK12
AK15

AK20
AK25

3oBHiluHili @ rBuHTa @ Bany B NiAWMNHUKY

Screw outer @
d

8
8
10/12
12/14/15
14/15/16
18/20
20/25
25/28/30
30/32/36
36/40

Shaft support @

A

10
12
15
17
20
25
30

(mm)

23
28
32
36
36
47
59
62
76
72

30
38

MetpuuHa pisbba
Metricscrew thread
M S
M10X1 16
MI2X1 14
M15X1 12
M17X1 17
M20X1 15
M25X1.5 18
M30X1.5 25
M35X1.5 28
M40X1.5 35
MeTpuuna pisbba
Metricscrew thread
M S
M5x0,5 7
M6X0.75 8
M8X1 10
M10X1 n
M12X1 n
M15X1 13
M17x1 17
M20X1 17
M25X1.5 20
M30X1.5 25



MAOWNIHWMKOBI OMOPW 1A LB
SUPPORT UNIT OF BALL SCREW

CraHpapTHa 06po6Ka KiHLUA rBMHTA HA NiATPUMYIOYIA CTOPOHI
Standard end-machining of the floated side of the the screw

M~
=
< m
Q Q
[
©
A —f—-—8F--
G +0.14
0
F +8 .2
— E -—
3oBHilLHiil @ rBunTa @ Bany B NiAWNNHUKY Po3mipu KaHaBKM i1A CTONOPHOTO KinbuA
Tun Screw outer @ Shaft support @ Snap-ring groove
Type d A B E F G
(mm)

FF06 EF06 - 8 6 57 9 6 038
= EFO8 = 10 6 5,7 9 6 038
FF10 EF10 BF10 12/14/15 8 7.6 10 7 0.9
FF12 EF12 BF12 14/15/16 10 9.6 n 8 1.15
FF15 EF15 BF15 18/20 15 14.3 13 9 1.15
FF17 = BF17 20/25 17 16.2 16 12 1.15
FF20 EF20 BF20 (1) 25/28/30 20 19 19(16) 14(12) 1.35
FF25 = BF25 30/32/36 25 23.9 20 15 135
FF30 - BF30 36/40 30 28.6 21 16 1.75
- - BF35 40/45 35 33 22 17 1.75
- BF40 50 40 38 23 18 1.75



